Best model for HELP J142541.379+343224.044 at z = 1.144 x?=2.36
OPTx2=1.05 IR¥?=9.45 threshold (OPT IR)=17.15 [um]

Flux [m])y]

102 - . Stellar attenuated
E = . Stellar unattenuated
] —— Dust emission
1 ] —— AGN emission
10 3 = Model spectrum
1 ® Model fluxes
| M Observed fluxes
100 4
1071 E
1072 3
103 3
5074 -
= ]
— 1
© 1 (Obs-Mod)/Obs
S ] —t—
S ]
7 ]
] o ST . =y B | FSSR Ry | Ryt NSy Sy N S Sy S S Sy S S Sy U S S S S —————
| 4
g ]
S ]
o -1 ! I cae
]
[a'd

10° 10t 102 103 104 10
Observed wavelength [um] o



